
p/n 003-914, Issue 1

STANDARD RECOMMENDED PROCEDURE 003-914 | ISSUE 1 | March 2012 | PAGE 1 OF 3

| P
R

E
TE

R
M

IN
AT

E
D

 S
Y

S
TE

M
S

 | 
C

A
B

LE
S

 | 
C

O
N

N
E

C
TO

R
S

 | 
CA


B

LE
 A

S
S

E
M

B
LI

E
S

 | 
H

A
R

D
W

A
R

E
 | 

TO
O

L 
K

IT
S

 A
N

D
 A

C
C

E
S

S
O

R
IE

S
 | 

TE
S

T 
E

Q
U

IP
M

E
N

T 
| S

P
LI

C
E

 E
Q

U
IP

M
E

N
T 

| F
A

N
-O

U
T 

K
IT

S
 | 

TR
A

IN
IN

GEclipse® Interbay Storage 
Unit

1.	 Components

1.1.	 Major Components
1.2.	 Kit Contents:

•	 Rear mounting brackets (2)

•	 12-24 screws (16)

•	 Galvanized hex bolt (1)

•	 Galvanized hex nut (1)

•	 10-32 nylon hex nut (1)

•	 1/4 lock washer (1)

•	 #10 flat washer (12)

2.	 Tools and Equipment
In addition to the normal supply of tools, a 9/16 wrench 
will be necessary.

3.	 Planning
Before you begin your installation, make sure you 
understand how the unit is to be installed, where the unit 
will be placed, and how the jumpers will be routed.

4.	 Installation

4.1.	 Foot Cap Installation
The unit comes with all routing hubs and troughs already 
assembled. The only assembly required is attaching the 
unit to the frame.

Step 1:	 The foot extension that comes with the IBD 
is to be installed first. To do so, remove the 
two screws on the front of the frame foot cap 
to remove the cover.

Step 2:	 Remove the foot cap cover for the IBD by 
removing the screws in the front and the 
back.

TPA-4096

Routing Hubs

Feed-through
Ports

TPA-4098



STANDARD RECOMMENDED PROCEDURE 003-914 | ISSUE 1 | March 2012 | PAGE 2 OF 3

Step 3:	 Use the 3/8 hardware (galvanized hex nut and hex bolt) to attach the foot caps together.
Step 4:	 Reattach covers to both foot caps. 

5.	 Storage Unit Installation
Step 1:	 Mount the IBD directly to the front flange of the equipment rack in the locations shown. 

Attach the two together using the 12-24 screws provided.
Step 2:	 To increase the stability of the unit, connect the back of the IBD to the back flange of the 

frame using the rear mounting brackets. Use 12-24 screws to attach the brackets in the 
locations shown.

NOTE:	 If you are running fiber down the side of the frame in this area, attach the rear brackets after fiber 
routing is complete.

Step 3:	 If using the IBD between two frames, mount the unit on both sides in the same manner 
described in steps 1 and 2.

TPA-4097

TPA-4099

Front Rear



STANDARD RECOMMENDED PROCEDURE 003-914 | ISSUE 1 | March 2012 | PAGE 3 OF 3

Corning Cable Systems LLC • PO Box 489 • Hickory, NC 28603-0489 USA 
1-800-743-2671 • FAX +1-828-325-5060 • International +1-828-901-5000 • http://www.corning.com/cablesystems

Corning Cable Systems reserves the right to improve, enhance, and modify the features and specifications of Corning Cable Systems’ products without prior notification. 
Eclipse is a registered trademark of Corning Cable Systems Brands, Inc. All other trademarks are the properties of their respective owners. Corning Cable Systems is ISO 
9001 certified.

© 2012 Corning Cable Systems. All rights reserved. Published in Mexico.

6.	 Cable Routing
There are a number of ways to use the IBD:

Slack Storage: Store fiber slack by winding excess fiber around the hubs.

Jumper Management: Use the IBD to route jumpers to different locations within the frame.

Jumper Troughs: Use the jumper troughs to route fiber from one equipment rack to another.

7.	 Specifications

IBD Dimensions
Height:   84 inches
Width:       5 inches
Depth:    15.3 inches

TPA-4100


